C:# Examining Digit Place Value Name:

Solve each problem. Answers
1) Which choice has a 7 with the value of 700 or 7 hundreds?
A.734 B. 972 C. 267 D. 7,694 b
2.
2) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 81,945 B. 96,147 C. 59,831 D. 4,319 3
3) Which choice has a 7 with the value of 70,000 or 7 ten thousands? 4.
A. 793,821 B. 27,159 C. 21,957 D. 875,491
5.
4) Which choice has a 2 with the value of 20 or 2 tens? ]
A. 962 B. 612 C.728 D. 952 B
7.
5) Which choice has a 3 with the value of 300 or 3 hundreds?
A. 6,312 B. 3,261 C.134 D. 2,834 8.
6) Which choice has a 3 with the value of 3,000 or 3 thousands? °©
A. 86,935 B. 92,135 C. 3,519 D. 91,327
10.
7) Which choice has a4 with the value of 40,000 or 4 ten thousands? "
A. 653,824 B. 432,786 C. 46,938 D. 73,984 I
12.
8) Which choice has a1 with the value of 10 or 1 ten?
A. 123 B. 31 C. 317 D. 871
9) Which choice has a9 with the value of 900 or 9 hundreds?
A. 198 B. 896 C. 7,593 D. 921
10) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 53,982 B. 7,984 C.2,918 D. 9,435
11) Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 415,732 B. 28,935 C. 837,561 D. 574,932
12) Which choice has a1 with the value of 10 or 1 ten?
A. 163 B. 13 C.21 D.21
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C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a 7 with the value of 700 or 7 hundreds?
A.734 B. 972 C. 267 D. 7,694

2) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 81,945 B. 96,147 C. 59,831 D. 4,319

3) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 793,821 B. 27,159 C. 21,957 D. 875,491

4) Which choice has a 2 with the value of 20 or 2 tens?
A. 962 B. 612 C.728 D. 952

5) Which choice has a 3 with the value of 300 or 3 hundreds?
A. 6,312 B. 3,261 C.134 D. 2,834

6) Which choice has a 3 with the value of 3,000 or 3 thousands?
A. 86,935 B. 92,135 C. 3,519 D. 91,327

7) Which choice has a4 with the value of 40,000 or 4 ten thousands?
A. 653,824 B. 432,786 C. 46,938 D. 73,984

8) Which choice has a1 with the value of 10 or 1 ten?
A. 123 B. 31 C. 317 D. 871

9) Which choice has a9 with the value of 900 or 9 hundreds?
A. 198 B. 896 C. 7,593 D. 921

10) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 53,982 B. 7,984 C. 2,918 D. 9,435

11) Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 415,732 B. 28,935 C. 837,561 D. 574,932

12) Which choice has a1 with the value of 10 or 1 ten?
A. 163 B. 13 C.21 D.21

Answers
1. A
2. C
3 D
s C
5. A
6. C
7 C
g C
9. D
0. D
1 C
1. B
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